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7 100kN/mM%#BZ 5 — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 4.09 51.22 | #nRS | 000 ~ 4.09| 2.05 10.97 st 1.00 | 6.00 ~ 5.00 51.22 | #hLS | 5,00 ~ 5.00| 2.05 10.97
2 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 480 59.83 | #nLRS | 000 ~ 4.80| 1.86 9.95 st 1.00 | 6.00 ~ 522 59.83 | #nLS | 6,00 ~ 522| 1.86 9.95
3 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 5.70 71.28 | LS | 000 ~ 570 2.84 156.20 st 1.00 | 6.00 ~ 10.68 71.28 | ThSY | 5.00 ~ 1068| 2.84 15.20
4 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 000 ~ b56.71 71.33 | LS | 000 ~ 571|284 16.19 st 1.00 | 6.00 ~ 10.68 71.33 | NS | 6.00 ~ 1068| 2.84 15.19
5 100kN/m%#8z5 | 1.00 | 000 ~ 0.78| 111.69 |3mx#Ez3| — ~ — — — | 100kN/ %825 | 1.00 | 1085 ~ 1342| 11169 |3mE#EZ5 - ~ — — —
s 1.00 | 0.78 ~ 857 100.00 | =St | 0.00 ~ 867 | 2.07 11.09 st 1.00 | 6.00 ~ 1085 100.00 | =hst | 6.00 ~ 1342| 2.07 11.09
P 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 457 57.00 | FnRS | 000 ~ 4.57| 1.89 10.12 st 1.00 | 6.00 ~ 5.00 57.00 | =nLS | 5,00 ~ 6.00| 1.89 10.12
- 100kN/mM%#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 468 5836 | FnRS | 0.00 ~ 4.68| 1.83 9.81 st 1.00 | 6.00 ~ 5.00 58.36 | =N | 5,00 ~ 6.00| 1.83 9.81
P 100kN/mM%{BZ 5 — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 5.58 69.63 | FNLSY | 0.00 ~ 558| 1.79 9.66 st 1.00 | .00 ~ 6.18 69.63 | ThS | 500 ~ 618 1.79 9.66
9 100kN/mM%E{BZ 5 — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 0.00 ~ 557 69.53 | FNnLSY | 000 ~ 0.00]| 1.68 9.00 st 1.00 | .00 ~ 6.18 69.53 | ThS | 500 ~ 6.18)| 1.68 9.00
10 100kN/mM%E#BZ 5 — - ~ — —|3mEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 000 ~ 551 68.81 | FnLSY |0oo ~ 551|178 9.50 st 1.00 | .00 ~ 6.07 6881 | =nhst | 5,00 ~ 607 1.78 9.60
11 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%iBZ % - ~ — — —
s 1.00 | 000 ~ 473 5894 | FnRS | 000 ~ 4.73| 1.80 9.64 st 1.00 | 6.00 ~ 5.00 58.94 | =nLS | 5,00 ~ 6.00| 1.80 9.64
100kN/mM%{BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ ZFhst ~ Fhst ~ ZFhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/m#%#B% % ~ IMERBZD ~
zhst ~ Fhst ~ Fhst ~ ZFhLst ~
100kN/ Mm% 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMERBZD ~
zhst ~ ZFhst ~ ZFhst ~ ZFhLst ~
100kN/mM%E#BZ 5 ~ ImEBAD ~ 100kN/ m%#B% % ~ IMERBZD ~
zhLst ~ FhLst ~ FhLst ~ ZFhLst ~




